ELECTRICIAN — Semester 1 Module 1

Reviewed and updated on: 015 November 2019 Version 1.1

1  Whatis the name of the safety sign? | 38 gT&TT

RIeg FraATT FATE?

Warning sign | 9dTdail [eg
Mandatory sign | 3Taed =g
Prohibition sign | TS Ieg

Information sign | IITcHh IBL

o 6060 w >

2 What is smothering in extinguishing of fire? | 31f3sT
T AHT FIAT 2

A Adding the fuel element to the fire | a%r:fré‘u?r
IGEICH

B Removing the fuel element from the fire | 33T &
SYT 37el9T BT

C Using of water to lower the temperature | STel ol
YT ek ATTHT HH el

D Isolating the fire from the supply of oxygen | 31f3sT

oY 3TTeFESTeT chT 3Tt & 3TeTaT el

3 Which is the physical hazard? | [T 7 & #ifas
gifa Farg?

A Smoking | g&HYTeT

B Vibration | sh&Yel

C Corrosive | &T0T

D Radio active | If3aT @fehadr

4  Which is the correct sequence of operation to be
performed when using the fire extinguisher? | IGL R R

3773 T T SYITIT el T Tl shed FAT & ?

A  Pull, Aim, Squeeze, Sweep | Eﬁﬂ'ﬂT, IGHIGIGELGIA
GlTedT, YHTAT

B  Pull, Aim, Sweep, Squeeze | Eﬁﬂ'ﬂT, IGHIGIGELIGIA
GATAT, SHTAT

C Push, Arrange, Squeeze, Sweep | ?TQW»IFIT, qaredd
AT, CeTedT, GATAT

D Push, Arrange, Sweep, Sequence | 'EJIWT,
SHA T AT, GHATAT, Jefshel

5  Which step of the 5s-concept refers
“Standardization”? | 5s-Hehedell H fold=T & & SieT AT

TOT “Standardization” I 3EATd AT &2
A Step-1 | 9UH TIOT

B Step-2 | Giada@Ror

C Step-3 | ey TROT

D Step-4 | UJF TROT

6  Which plier is used for making wire hooks and

loops? | aﬁaﬁwwmaﬂa@%aﬂtaﬂ
TA HEATR?

Flat nose plier | Fele ATeT ToTAX

Long nose plier | ATeaT sIToT TATAT

Round nose plier | I38 AleT TR

Diagonal cutting plier | STl hicaT TATIX

O O w >

7 What s the use of pincer? | TITT &1 FIT 3YATIT &2
A Twisting the flexible wires | FlTFESel dR T
cfaee s

B Cutting small diameter of wires | B¢ eI & dX
hIcaAT

C  Extracting the pin nails from the wood | Sleralr A &
0T q2T el Ao

D Holding small objects, where finger cannot reach |

BT TE TehgaTT, SRl SaTell Frqg?.r: T&

8 What is the name of road safety sign? | SH Hsh
R g T AT A1 7

A Mandatory sign | 3Taeds =g

B Cautionary sign | @dde deg

C Informatory sign | H\ﬂ'ﬂmﬁ'ﬁ'
D Prohibition sign | Y% eg
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9 What is the back-ground colour of warning signs in
the basic category? | HeT A0 H Felcleh Tolog & TR
3T T LT FATEIAT B2

A  Blue | AtelT
B White | 23
C VYellow | 9terT
D Green | &

10 Which type of fire extinguisher is used for fire on

electrical equipment? | %ag?rmﬁmﬁaﬁrr%q
et AT HTTTRAMAS AT AT ATAT 82

Halon type | gollel T

Foam type | SATIT JohX

Gas cartridge type | WWW

Stored pressure type | FATEd Ga1d TR

o 606 w >

11  Which is the waste disposal method that produces

heat? | 319frse foger fafer sl &t g, St a7t der
FA 87

A Recycling | g?-l?i??UT

B Composting | ©Tq STeldl

C Incineration | HEHIHIOT

D Waste compaction | 3797 AT

12  Which Personal Protective Equipment (PPE) is used
for the protection from fumes? | ‘{{@ﬁﬂT&ﬂT? forw

Tt carferctaTes gRe 3ushtoT (dIds) s 3ot famar
AT R?

A Apron | U9

B Goggles | IHAT

C  Ear mask | ahlel shdd

D Nose mask | oTeh shdd

13 Whatis the full form of BIS? | BIS WET\USFFCF%’

A  Board of Indian Standard | Board of Indian Standard
B  Bureau of Indian Standard | Bureau of Indian
Standard

C Board of International Standard | Board of
International Standard

D Bureau of International Standard | Bureau of
International Standard

14  Which method is used to lift and move heavy

loads? | $TRY R 33T+ 3R TATATART el & folw T

geerfar &1 39T fohaT STt 82

A Winches | e

B Crane and slings | sheT 31X T&ciaT

C Layers and Rollers | o 3R Ao

D Machine moving platforms | N Trford celewRT

Ans : B

15 What s starving in extinguishing of fire? | 31T9T
TS H TG FT?

A Adding fuel to the fire | H’%I’ﬁgﬂ?{ﬁlﬂ'l?ﬂ

B Using water to cool the fire | W@éﬂﬁw
Cxtll

C Removing fuel element from the fire | STel T
39T ek ATTHTA HH el

D Preventing oxygen supply to the fire | 31T3sT T
3HTerETSTaT ShT ATt & 3T HLaT

Ans: C

16  What is the name of PPE? | YYS T =TS AT 72

Nose mask | oTeh shdd
Head shield | GY ol shdd
Face shield | IgL T Hhad
Hand screen | BT Thi

O 0O w >

17  Which disposal method of waste save lot of

energy? | Hﬂwﬁmﬁfﬁﬁam%a’ra—g’aw
FAT AT g7

A Land fill | ST & $TAT

B Recycling | WUT

C Incineration | #EHIHIOT

D Composting | @lq STelel
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18 Which artificial respiration method is to be
performed to the victim with injuries on the chest and

belly? | foh& WehR hr I a8t fafer 7 vver 37
qfSd & T & g, Tageh! S 3R dc A A gre
Schafer’s method | Q%Y fafer

Mouth to mouth method | ﬂ?@ﬂ?%@

Mouth to nose method | ﬂ?@ﬂ'ﬁﬁﬁ?

Nelson’s arm-lift back pressure method | sTedeT Sl
ol IR 4 garg fafer

o 6060 w >

19  Which type of occupational health hazard is cause
for infection? | fFT Y&pR & AT AS TAELT @R &

HOT HehHAUT & Tehdll &2

A  Electrical hazard | ﬁ@fﬂ'ﬂ'ﬂﬂﬂ'

B Biological hazard | G‘ﬁiﬁw

C Physiological hazard | IR WaRT

D Psychological hazard | maﬁasﬂw?r

20 Whatis the use of this tool? | 3 3SR T FAT
39T E?

Y
= e

A  Holding the hot substances | I IeTT P GehsaT
B  Cutting and twisting the wires | IR T e 3T
Az

C  Extracting nails from the wood | el & dhlel
IGEACCI

D Loosening and tightening the bolts and nuts | Slee
31R 7 ot Erel T 3R =

22 What is the name of the tool? | 8 3SR &1 FaT
ATHE?

A Wire stripper | a”R fewX

B Crimping tool | WT;\?{

C Combination pliers | FIETARNT TATIT

D Diagonal cutting pliers | ST HTEaT AT

23  What is the name of the safety sign? | ENRSR)
e AT FATR?

Warning sign | 9dTdail [eg
Mandatory sign | 37TaRTe fdeg
Prohibition sign | foSere RIeg

Information sign | FI=ITcHD IBL

O O w >

24 What will be first-aid to be given to stop the
bleeding of the victim? | GIf3d & I&Fd & S8Td FI Uched
& forT F7am grrfaes RIfehcar 3TeretT g SITdT 87

A Applying ointment | HelgH oldTAT

B Keep the injured portion upward | EflE'FI?Tg'USTI?T
T S IG=AT

C Covering the wound portion by dressing | T 3T
§U HTIT B STHT et

D  Applying pressure over the injured portion | TTe
o9 §U SHI4T O GTq ST

21  How will you diagonise the victim is suffering

under cardiac arrest? | o FeRadfsa=aFasr
31 8 ggdreiar?

A Gets pain in spinal guard | ﬂa@rg{s"rﬁa&ﬁ

B  Mouth will be closed tightly | ﬂg@ﬁ?@@ﬁﬁ
SR

C Heavy swelling on his stomach | ﬂ?ﬁmﬁ\ﬁlﬂ
D Appears blue colour around his lips | gl & aRT
3R Arer Tt
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25 What immediate action should be taken to rescue
the victim, if he is still in contact with the electrical

power supply? | tﬁ‘%ﬁﬁﬁﬁ%@ﬂdlcwﬁm haH
33T AR T, AT e 3130 off ey erfer ey & s
HE?

A Pull or push him from the contact by hand | gt
EART Wi AT YT &

B Inform your authority about this electric shock |

37} TR faeg e $1eeh & IR & SRy &
C Call someone for helping to remove him from
contact | TrET &l 3H s T Pl & JoITd
D Break the contact by switching OFF the power

supply | Wﬁwm%mm@aﬁwm

26 What is the name of the cautionary sign? | S8

TIde [Reg T ATH FAT §?

School | ﬁregrm

Guarded | BT

Unguarded | 3r&Rf&Td
Pedestrian crossing | Yol STTHAT

o 0O w >

27  Which is the golden hour for the victim injured on

head with risk of dying? | If¢ Rifsa I XA Alc e &

3R a8 A @1 &Y, ar 38 fov EafotA ger sl arg?
A First 15 minutes | 9gof 15 f&sie
B  First 30 minutes | CI%?{ 30 f[AeTe
C  First 45 minutes | 98l 45 fAee
D First 60 minutes | ‘SI%?TGO Aae

28  Which condition of the victim is referred as COMA
stage? | N3 Fr ieT T AT FT AT FET SATAT &2

A Unconscious but can respond to calls | S8Ir I@=1T
TR elel I I ST

B  Conscious but cannot respond to calls | BT 7 I§=T
TR Fellol I 3T o Sl

C Breathing but cannot respond to calls | TF AT I
Fellol 0 3R o el

D Lie totally senseless and do not respond to calls |

T G HACTEI Bt oIE TgelT Ve olled I 3eT o

el

Answers:

1-D|2-D|3-B|4-A|5-D|6-C|7-C|8-A]

9-C|10-A|11-C|12-D|13-B|14-B|15-C |

16-D|17-B|18-D|19-B|20-C|21-D|22-D |
23-D|24-D|25-D|26-D|27-B|28-D |
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1 Whatis the use of this gauge? | EQTU’IGTW?ZIT

3T E?
52

j/\
A Check the internal radius of the job | KK
3TdRe BT &r ST

B Check the diameter of cylindrical job |
ST SIS T ST ST

C  Check the height and parallism of job | SiTa &hr

315 3R ATARAT S
D Setthe job on machines parallel to datum |

e & 7NAT H 2H & AR &A1

2 What is the name of the file? | 8 Ydil &l &1
ATHE?

Rasp cut file | IFT e IdT
Single cut file | Tdhel e Il
Double cut file | Qg3 Fe IdT
Curved cut file | ISHIHR Fe YT

o 0O w >

3 What is the name of the tool? | 8 3STR & T
FATATH 82

[~

ek

E ww e aw e

A Divider | f3aEst

B Inside calliper | 3TARe shella

C Odd leg calliper | TAYH 9T Foll X
D Outside calliper | qET hell X

4 What is the cause for twisting defect in timber?
| st H AT eIy FrFAT FROT §?

A Defective storage | ?fI'GI"{USf HUSUT

B  Uneven shrinkage | m:rﬁ;mm

C Improper seasoning | 3Teld HIoTlaiar

D Irregularity in growth of branches | QRET31T T

qafRr # et

5 What is the use of mortise chisel? | ?FﬂE{IETrT
Batl T AT 3TN 57

A  General chiselling work in wood | SThsT &
HTHTY Seileh<0T el

B Making rectangular holes in wood | oTehsl &

AR G el
C Paring and finishing joints in wood | eTehar &l
BTl Ug fOhferer ¢ar

D Light chiselling cleaning sharp corners and in

wood | Thsl H §oohl Selleh 0T AT ol [aheIRT T
S

6  Which type of stake is used for sharp bends in
sheet metal? | %ﬁtﬁwﬂﬁamﬁf%ﬂﬁ?ﬁw

T T 39T fhaT ST 82

A Square stake | PR FTh

B  Hatchet stake | %ﬁl’@?

C Blow horn stake | Soll glel Th

D Bevel edge square stake | STl U JAPR
TH
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7  Which type of cold chisel is used for squaring
materials at the corners? | ford 9&pR T &3T it

T ST feheTRT 9X gerf ! FaMTehR it B
TRaT SATAT 8?2

A Web chisel | STTell Seil

B Cross cut chisel | HIg &he el

C Half round chisel | H?ja(_?l'@r\"@.?ﬁ'

D Diamond point chisel | @Tl'qyl'g'a'c,"é?ﬂ'

8 Which type of calliper is used to draw parallel
lines along the outer edges of the materials? | g

TR & ShellqL T 1T Tard & aredr FaRi o)
HHATeR TQ@TT Eilel 7 g 8?

A Inside calliper | 3TAR® el

B Jenny calliper | 31T FHeliaT

C Outside calliper | STET el

D  Spring joint calliper | FE&S3T 318 Shellax

9  What is the name of the drill bit? | 39 3o foe
T FIT ATH g7

Flat drill bit | Fele 3o fae
Taper shank bit | IR & fae
Countersink bit | SI3e A foT
Straight shank bit | @E‘QTEF%IE'

O 06 w >

10 Whatis the name of the stake used for
general purpose in sheet metal work? | €fic el &

AT 3UANT & fohd JehR AT Teoh 3TN fohar
ST g?

A  Square stake | PR T&h

B  Hatchet stake | %ﬂ?m

C Blow horn square stake | Soll gleT T&h

D Bevel edge square stake | Sdol TSl gaThR
TH

11 Whatis the number 1.25 indicates in ISO

metric fine thread M12 x 1.25? | 3TSug3N Afew
HTSeT U3 M12 x 1.25 H 1.25 FeR FAT 3310 HLar
g?

A  Diametric of the thread | U35 &l eI

B Pitch of the thread | U8 &1 U=

C Depth of the thread | z)'s'aﬁrwré

D Length of the thread | %‘Ts’ﬁ?ﬂ%ﬂé

12  What defect will occur in timber due to
irregularity in growth of the branches? | eTehar &

3fAAfAT T @3 & 337 o HIOT i IT

&Y 3cUeoT gldT &7

A Knot | ElIKs)

B Cupping | YT
C Cracking | dcehdlT
D Twisting | gHTAT

13  Which file is used for sharpening the blunt
teeth of a tenon saw? | Wéﬂﬂ'ﬂﬁ*iﬁmaﬁ

Aot e & Torw fore Yl a1 3oier fomam ST 82
Square file | AR IAT

Round file | WW

Triangular file | ﬁ'ﬁimt-ﬁ

Half round file | Hﬁmﬁ

O 0o v >
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14  Name the part marked ‘X’ of the file. | "X" &
Sf3reT Yt o H19T T ATH TS T-

A Edge | TaT
B Heel | 1T
C Tang|&m
D Shoulder | eMesT

15  What is the name of the tool? | 3 3SR T
FIT ATH g7

Dﬂgﬂ ¥

Jenny calliper | ST ol

Inside calliper | 3TTAR® FHellaR
Outside calliper | qET FollaT

Firm joint calliper | FH IS Helld)

O 060 w >

16 Whatis the name of the angle marked ‘X’ of
the chisel? | ST 3 "X" GART Y& 12T SIOT T ATH

FATE?

Rake angle | Y& 10T

Point angle | q‘%aw
Clearance angle | fTFel® HioT
Inclination angle | EEI’WEI#UT

o 6 w >

17  What is the use of firmer chisel? | &I Sl
T T 3T 82

A Paring and finishing joints | &TeleT 311X SST I
Refafarer &

B General chiselling work | ETHTCT Bel1ehT0T
Eop)

C Making rectangular holes in wood | TR H

TIATRR G Fellel]
D Light chiselling and to clean sharp corner |

RSN H Eoohl DAThIUT AT ToT TohalIRT ehl PRI

18 Which type of half lap joint is used if one part
of a job meets another part at some distance from

the ends? | ThE YehR T 378 T SIS TATeT fomar
STl 8, STl Siie T Teh 81197 RART b 3T AP g &
fAerarg?

A End-lapinput | TSI S8

B Cross-lap joint | hIg-olT S5

C Middle-lap joint | FEI-JT A5

D Corner-half lap joint | FA-3T AT AT

19  Which type of notch is used for making a
metal tray with 90° bend and an inside flange? | 90

* 715 3R 37T @ vk g Ry 5 e e
FoTTet o folT foRd YR o iTd ol 39T fohdT ST
g?

A V' notch | v AT

B Slant notch | IR

C Square notch | IR AT

D Straight notch | drem At
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20 Whatis the purpose of hem folding in sheet

metal work? | %ﬂtﬂwmﬁ%ﬂqﬁ%ﬂww
36T E?

A Helps for forming a square box | G3TehR Sea
H TAT H HgITh

B Helps for bending sheet metal easily | i
AT Y TIAT A A H T

C Prevents burrs forming after cutting | FIcA &
T TEGY R aefey & e &

D Prevents the sheet from damage | e T &1fad
q S

21  Which defect in the timber is caused to
reduce its strength? | aﬁﬁﬁﬂmmsﬂ@r

ATF T HH FIAT 8?

A Twisting | AT

B Cupping | TUaT

C Cracking | dcdhdall

D Irregularity | 3 AT

22  What is the name of the hammer? | svz-:%ﬁ?
T AT ATH &2

Claw hammer | aﬂfiﬁﬁgT

Ball peen hammer | Tl 91T g2isr
Cross peen hammer | g disT g2itsT
Straight peen hammer | @ECﬁ?fg?ﬁgT

O 0O v >

23  Which defect in timber is caused due to
improper seasoning? | WW%W

ThaT H ieT AT AT 3cTeeT BT 87
A Knot | IS

B Twisting | gHTT

C Cracking | dcdhdll

D Cupping | aT

24 What is the name of the formation of thread
marked as X in the galvanized sheet pipe joint? |

S fic s s A X F T H RAEaa A5 F Fr
ATH FATE?

A Hemp | J[C

B Full form thread | %ol BI& U35

C Tapered male thread | ORI AT U3

D Parallel female thread | THTCAX hIAA U5

25  Which type of notch is used for bending the
edge of the sheet? | Qﬁ??ﬁﬁﬂﬁﬁgﬁ%@ﬁm

YR T SI1<T ST TAN3T FohaT 1T &2

|

‘V' notch | v AT

Slant notch | IR
Square notch | IR AT
Straight notch | drem At

O 60 w >

26 What is the purpose of cross cut cold chisel? |
I T B3N Bl T FIT 36T &7

A Cutting keyways | PId<T Frea &

B  Cutting curved grooves | ThIHR ATl
hICAT

C Squaring materials at corners | [T Pl PIAT
W AR F 7

D Removing metal from large flat surface | 31

IS HeTg @ e fAehrera
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27  Which type of notch is used to make a job
with 90° bend? | 900 HIS=l &< foh® YehR T wATel

JART EIT 87?

A V' notch |V A

B Slant notch | faver arar

C Square notch | FANHR AT
D  Straight notch | T st

28  Which type of curve cutting hand saw is used
for internal cutting in wood? | eTehar &l TR

I & TIT Tohd Teh T dsh shicaT el 3R
AT Y SATH &2

Compass saw | FIRT 3RY

Key hole saw | 3T grel 3TRT

Coping saw | SITIaT 31T

Fret saw | %he 3T

O 606 w >

29 What is the name of the stake used for sheet

metal work? | e A FRT & foIT 3TAET 81 arel
TEH BT FATATH 87

A  Square stake | FAMPR Th

B Hatchet stake | gUC THh

C Blow-horn stake | Wﬁﬁm

D Bevel-edge square stake | Sl TSl aehR
H

30 Whatis the name of tool? | 3R FrFT
AT B?

Claw hammer | Foll g2iter

Tack hammer | ¢&Fg giaT

Cross pein hammer | S8 9T g2iiaT
Straight pein hammer | @EWET?J’ET

o 0O w >

31  Which type of chisel is used for separating
metals after chain drilling? | ﬂﬂ%ﬁlﬁ?ﬁﬁ
T3t Y 37eraT et & o TR T Sl
TN TR ST 82

Flat chisel | TIET Seil

Web chisel | SITIGR &

Cross cut chisel | SpIE e Dell
Diamond point chisel | ﬁTI’WUI??E'a?ﬁ'

O 0o ®w >

32  Which type of stake is used for riveting or
seaming tapered cone shaped articles? | T YR

<Y Tk T ST ST A & TR & ol
Rt a1 WfHeT et & v fomam Srar g2

A Square stake | IR Tk

B Hatchet stake | §3c &

C Blow horn stake | WTBEI‘?(I'W

D Bevel edged square stake | Sad TS gaThR
H

33  Which causes knot defect in timbers? | ahor
¥ 3TS GIY ST FIT HROT §?

Defective storage | E‘\TWCI‘PSFSTU"S'ITUT

Uneven shrinkage | mﬂﬁlsﬁ?ﬂ

Growth of branches | ?ﬂ'@T\%ﬁEﬁf?@’ﬁ

D Improper seasoning | ITeTd IaTfeiaT

0O W

Answers :

1-A|2-A|3-B|4-B|5-B|6-B|7-D|8-B
|9-B|10-A|11-B|12-A|13-C| 14-B|
15-A|16-B|17-B|18-C|19-A|20-D |
21-D|22-A|23-D|25-D|26-A|27-A|
28-B|29-C|30-B|31-B|32-C|33-C|
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1  Whatis the current carrying capacity of 32
amp. rated cable, if it is protected by the rewireable

fuse? | 32 UfETIY IS hdof shl 4IRT dgoT &THAT

&Y foham Iram g1
A 13 Amp
B 16 Amp
C 26Amp
D 39Amp

2 What is the possible range to measure the size
of the wire in a Standard Wire Gauge (SWG)? | SWG

T IR T 3R AT H W FAT&?

A 0-44
B 0-42
C 0-38
D 0-36

3  What is the name of the wire joint? | SH dX
SIS AT FATATHB?

Aerial tap joint | TRUST ¢TSS

Knotted tap joint | Ales T

Duplex cross tap joint | ;S'QEI—'{-T%\IL\'?%CFGI’I'S’
Double cross tap joint | S hIF T SIS

o 0O w >

4  Which type of soldering flux is used for

soldering galvanised iron? | dfedeiiehd @ilg & folw
fre IR & AesRaT Feldd o1 3UIET fohdT SATar
e?

Rosin | ATSteT

Zinc chloride | STEAT FARTSS

Sal ammonia | GTeT 37AIfAT

Hydrochloric acid | gT88IeFall X 31FeT

o 0O w >

5  Which method of soldering is used for quantity
production and for tinning work? | HATAT 3c9TGa

3R Reier et g her A s Rafey v sy
[ERIEIGIN

A  Dip soldering | 39 @resRar

B Soldering with a flame | SaTelT o AT ElesRaT
C Soldering with soldering iron | BTesR3T 3R
& @Y Hesiar

D Soldering with soldering gun | Te8R3T T &
1Y HesRer

6 What is the name of the part marked as X in
the under ground (UG) cable? | gﬂ'ﬂﬁﬂﬁmﬁ

X & ST $119T T ATH TS|

A Bedding | 9T33T

B  Armouring | ITARET

C Leadsheath | o5 efrer

D Paperinsulation | PIITST HrdTelsh

7 Whatis the full form of XLPE Cable? | XLPE T
AL

A  Cross Line Poly Ethylene | Cross Line Poly
Ethylene

B X'ess Line Phase Earthing | X'ess Line Phase
Earthing

C Cross Linked Poly Ethylene | Cross Linked Poly
Ethylene

D Excess Length Paper and Ebonite | Excess
Length Paper and Ebonite

8 What is the purpose of ‘serving’ layer in

underground cable? | ${{RaT Shelel H AT T
T FIT YT 82

A  Protect the cable from moisture | helel I AHT
& Sarer
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B Protect the cable from mechanical injury |

Fael I T3P &1fa O ST

C Protect metallic sheath against corrosion |

eTfcaeh shd<r oY &RUT & SITeTT

D Protect armouring from atmospheric condition

| 3TARET & aRgHs T R & ST

9  Which type of fault of U.G Cable can be located
by this loop test? | agéwﬁm@maaﬁaa:%\q
Y & &Y o TATA ! AT [HAT ST TehT &7

| -
[
P | 9

i —

Ground fault | S{\E\Tﬂr

Short circuit fault | agrqmua’rsr

Open circuit fault | gﬂTQﬁ'crzra’mr

Weak insulation fault | &R FrelTereh &Iy

o 0O w >

10  Which cable laying method is used in
generating station? | 3cTGel Gt H fohd YR hr

shadl faoTer T fafer a1 w2ier forar s &2
A Inducts | SFCH

B Racksin air | gaTH &

C Along buildings | 7deT o &Y

D Directin ground | e ST&T H

11 How many electrons are there in the valence
shell of a copper atom? | HT@QEWIUIQF}]T@U

Teh H fohdel SolareiT 8l &6 ?
A 1
B 2
c 8
D 18

12 What s the effect of electric current on neon
lamp? | SIS & fae et €RT T TeITa T
FEATT &?

A Heating effect | 3SHIT g8

B Magnetic effect | Wqﬂw
C Chemical effect | TERIfS TG
D Gas ionization effect | 31T 3TIATRIOT FHTT

13  What s the unit of insulation resistance? |
relTere STTeRIeT 81 g -

A Ohm | 3EH

B Kilo ohm | forell 3eH

C  Milliohm | f&el 3EA

D Megaohm | H3 e

14 Which electrical device is the coarse excess

current protection? | aﬁﬂmﬁagawm
3TAREF URT FETOT &2

A Cartridge fuses | EFI'@TTI'EI—'Q@

B  Rewirable fuses | Gk HWWWWE

C  Miniature Circuit Breaker (MCB) | TAfAT=R
afde dat

D  High Rupturing Capacity (HRC) Fuses | E'Ié'
TR &TH AT Pt

16  Which type of soldering flux is used for
soldering aluminium conductors? | U@ﬁm

ATelehl ol TTesT hlal %@WW%W« [

TRl ST 19T fohdT ST 82

A Tallow | o

B Ker-al-lite | h-3Tel-alISC

C  Zinc chloride | STEAT FeIR188

D  Sal ammonia rosin | @l AT AT
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17  What s the effect on molten solder due to
repeated melting? | ﬁa@rg&rwwmm
TereTTeY & T T8I1q USar g?

A Tin content reduced | f&sT T $19T e &1 SITT
J

B Lead content reduced | WWWTWET
ST

C Prevent slug formation | ToTaT &I STl J U
aarg

D  Uneven flowing in joints | SI18T 9X 31GHT
S8 g

18 What will happen to PVCinsulation in cable
carries excess current continuously for long period?

| SheTel o PVC FlTeleh oI T g1aTT, Afe; 3Tt
T o JHY TTeh Tgall 367

A Voltage drop increases | @lecol UTd d¢3M

B Voltage drop decreases | Eﬂmgl'qﬂ??ﬂ

C Insulation resistance increases | W
sfcier s

D Insulation resistance decreases | $dlelsh

gfarer gear

19  Which method of cable laying is suitable for
congested areas? | Fhaol [9oT &I anleT AT FAfEr

HRIOT &3 @] IUYFT &2

Racks in air | gaTH IS

Duct pipes | S&c 9ISH

Along buildings | $1a=If o T
Direct in ground | TTE STHT &

O 060 w >

20 What is the name of the part marked X in UG
cables? | 38 AT heel 7 X H SFaTeT 7T 7 ATH

A Serving | Gfdar

B Bedding | Sf3ar

C Armouring | 3mERET
D Lead sheath | g efrer

21 What is the fault of U.G cable identified in the
circuit? | $fHT Farel & e TR & Y 1 AT
o ST HehaT 872

o e = ]
III—;(\} q
Ground fault | 8{ &Y
Short circuit fault | g IRTZ g1y

Open circuit fault | E;l,Tvthlﬁ'q?‘Ta’I'Gr
Weak insulation fault | i FeTereh a1

O 0o wv >

22  Which part of the underground cable is
protecting the metallic sheath against corrosion? |

HIATT el 7 st HT 1T YT <l I &7
J AT R?

A Serving | gfder

B  Bedding | §f3ar

C Armouring | AT

D Lead sheath | @3 efrer
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23 Why the soldering iron must be kept into a
stand that not in use while soldering? | HresRar
3TIRA T ST of el oh AT T8 H FAT TGaAT
aifge?

A It prevents burns and fire | ZI'&'GIT*!?U‘&’&T%T
EORIET IS

B To control the excessive heat | 3ifaRerd FsaT
Y ity et &

C To save the time of soldering process |

TSR Gishar T §&@g T2+ 8

D To save the operator from electric shock |

TdTeleh I [degd giceh 8§ am 8

24  Which type of wire joint is found in the
junction box? | STerereT dfFd  fohd UhR & dRT &
SIS U ST 82

Aerial tap joint | TRUT T SIS

Plain tap joint | @ ST S

Rat tail joint | Y& T S8

Married joint | HRS S8

O 606 w >

25 What is the name of the joint? | 38 1S &l
FATATH 82

Married joint | HRE 318

Scarfed joint | TIPS AT

Western union joint | aﬁﬁq\ﬁ'ﬂﬂ'm
Britannia straight joint | fsierfarar T SIS

O 0O w >

26 What is the use of Britannia T joint? |
fSreTferar T S1S 1 1 39T 82

A Extending the length of the lines | ﬂTs'Hﬁﬁf
TFTS Y ToTeTT

B Inside and outside wiring installation | AR
3R STET araier T e

C Mechanical stress not required on conductor |
ATeleh IR ATTAh deITd 3T oIl

D Tapping the service connection from overhead

lines | WW?W%@H?@W

27  Which type of soldering method is used for
servicing and repairing work? | gfafder3ik
RaaRer R & o forg g &1 Aresier iafer
TN T SATAT 82

A Dip soldering | 3T @resRar

B Soldering with a flame | SaTelT o TTY ElesRaT
C  Soldering with soldering gun | STe8R3T 3T &
1Y HesRer

D Soldering with a soldering iron | @resRar

3 & |1 Hles T

28 What is the use of dip soldering method? |
3 AresRer afe s suaer Far g2

A Soft soldering | T AresRar

B  Piping and cable soldering work | ngﬁ?T}ﬁT
ST AreeRaT

C Soldering miniature components on PCB |
e H BIC AT Hr AlesiaT

D Soldering sensitive electric components |

HdeaTelier faeg e #rait & dresRar

29 Name the part marked X of belted U.G cable.
| S8 AT harel H X A AT 7T T ATH

Jute filling | Wtﬂgﬁm
Armouring | 3TARAET

Lead sheath | o5 2frer

Paper insulation | IS HdTelsh

O 6o w >
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30 Which insulating material is used as hot
pouring compound for making joints in

underground cable? | WWWWH@W
cherel H 313 A3k HT ARG STl ATAT 82

Polyamine hardener | qi’ﬁrm's’ém

Cast resin compound | e AT iR
Bituminous compound | ﬁgﬁmzﬁﬁa
Epoxy cast resin compound | TUTFET T
e A

O 0O v >

31 Whatis the purpose of bedding insulation of

U.G. cable? | 3fR3TT shalel H SfSaT 7 T Jeged
&?

A Protect the cable from mechanical injury |

Faol I I3 &1fa O ST

B Protect the cable from moisture and gases |

hefol T AT Ug 3 & I

C Protect armouring from atmospheric condition
| 3THARET T argAS T Euferdt & e

D Protect the metallic sheath against corrosion |
eITfcdeh shad ohl &ROT § STl

32 Which test is conducted to locate the faults in

U.G. cables? | m@mamasﬁmwé:a’maﬁ
AT fohaT ST EehaT 7

A Loop test | FJ'\Q'ER

B External growler test | ST AFHeR ¢TC

C Break down voltage test | sieh 3131 Alecol
T

D Insulation resistance test | wqﬁfm
T

33 What does the number 1.40 represent if a
stranded conductor is designated as 7/1.407? | gfe

Teh §U TTelh 1 7/1.40 WA febam Srar g, &
1.40 FATGRATAT 82

A Area of cross section | WUWEFFW
B Radius of one conductor | Teh dTeleh T =T
C Diameter of all conductor | it areren! &T
SIIE:]

D Diameter of each conductor | Ycdeh ATeleh T

T

34 What s the value of electrical conductivity of

aluminium conductor? | um?ﬂﬁmmﬁ

ATelehell ol FAT HTT g2
A 61 mho/m
B 56 mho/m
C 35mho/m
D 28 mho/m

35 Whatis the rating factor of cable provided

with coarse excess current protection? | heol T

31fere srfafare e geT & fore awy YT Fra

FATE?

A 111
B 123
C 081
D 0.707

36 What s the size of neutral conductor
compared to phase conductor in U.G cable? |

HIATS hael 7 3G TTeTeh T 3THR ol ATeTh
ol Jolell 7

A  Same size of phase conductor | %ol dTeleh o
HHATA

B Half size of phase conductor | %af dTeleh &
3T

C  1/4 size of phase conductor | %ol dTelh T Teh
EIEIES

D 1/3 size of phase conductor | %hef dTeleh T

LEAR RS

37  What is the name of the tool? | 39 3SR &T
FIATATHB?

A Cutting plier | STE3T TART

B Wire stripper | aRR Rg®X
C Crimping tool | ﬁ;ﬁqﬁﬁg\?{
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D Side cutting plier | TTSS e TARR

39 Whatis the reading of the micrometer? |

A 505mm
B 5.00mm
C 455mm
D 4.05mm

40 Which method of soldering is used for
repairing the vehicle body? | a'@?fra‘?ra%s"ré;gm
¥ FreaRar & ey 2 R sriter By Tl 7

A Dip soldering | 39 AresRar

B Soldering with flame | SaTIT & TTT AlesRAT
C Soldering with soldering iron | BTe8RAT 3RRA
& 91y Hesiar

D  Soldering with soldering gun | Te8TRaT Il &
a1y FresRar

41 What s the advantage of stranded conductor
over solid conductor? | @?WW&?W

hY Tl & FT 1T 82

A Costis less | & AT

B More flexible | 37T&Ieh or<irerr

C Less voltage drop | & dlecsl 9T

D More insulation resistance | mw
EIGL)

42 What s the current capacity of the 16 Amp.
Cable, if it is protected by coarse excess current

protection? | 16 A Shaldl hT YRT &THAT FATE, ITe
Ig 318 JTfARerc &R GRaT earT TXfard 87

A 11A
B 13A
C 15A
D 18A

43  What is the unit for Quantity of electricity? |

TSrSTell T AT o folT Sahrs FAT &2
A Mho | Fgr

B Coulomb | Gelld

C Volt /second | dlec/Ths

D Ampere/second | TETa/Ahs

44 What is the name of the soldering method? |

AresReT R FrFar AT g

Dip soldering | 3q AresRar

Soldering iron | BTe3RaT 3RRA

Soldering gun | BTesR3T T

Soldering with flame | SaTelT & ATY AlesRaT

o 0o v >

45 What formula is used to find Electro Motive
Force (EMF)? | faegd aTgeh sl AATd a1 & fohd
A T 3TN T STl 2

A EMF = Potential difference — voltage drop |
EMF = [a¥aled-alec st a1d

B EMF = Potential difference + voltage drop |
EMF = fd¥aleai+alec st ard

C EMF = Potential difference + voltage drop/2 |
EMF = [a#Taleai+dlecst Urd/2

D EMF = Potential difference + 2 x voltage drop |
EMF = Ta#7alecd+ 2 x dlecst dTd

46 What is the current rating factor for close
excess current protection of cable? | 3hael &I qTH

ohr 31TTREFT 4T & & forw arT e svReh

&

A 081
B 092
c 1.23
D 15
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47 What is the disadvantage of solid conductor
compared to stranded conductor? | Y ATl Fr

T U AT T JolotT 7 AT g1 &2

A Less rigidity | S FORAT

B Less flexibility | S oIl

C Low melting point | & ITelelleh

D Low mechanical strength | FH T Afad

48 What is the name of the soldering method? |

TresRer A FrFar AT 82

A Dip soldering | B gresRar

B Soldering with blow lamp | el ofT & ITT
Hresier

C Soldering with soldering gun | ATe8RaT I &
a1y FresRar

D Temperature controlled soldering | ATIHTeT

[CRIECK:ICIET)

49 What is the cause for cold solder defect in
soldering? | TesRaT & 32 Ao GIY T HROT FAT
g?

A  Excessive heating | 37ca ¥ FsHA

B Insufficient heating | 379Tcd ST

C Incorrect use of solder | o3 T I TATT
D High wattage soldering iron | 3TJ dIc

AresRET 3R

50 What happens to the voltmeter if it is
connected as an ammeter? | a’CITgIHI %’, g

recHITT I AT T TRE SATST ATT?
A Low reading | WW
B No deflection | Eﬁl’é’ﬁﬂﬂ?{ﬂﬁ'

C  Meter burns out | #IeX ST SIRET
D Overshoot deflection | X faTrereT

51 Which is the example for coarse excess

current protection? | 3778 3TAReFd URT et

€ T 3STERUTE?
A MCB
B MCCB

C H.R.Cfuses | H.R.CHaT
D Rewireable type fuse unit | JoT: dR Srea
AT TSl FhTS

52  Which conductors are used for distribution

lines? | ﬁwaﬁﬁ%%@aﬁamm
39T T 872

A Insulated conductors | so-{:iao\ics FosFcl

B Insulated solid conductors | ﬂﬁ?‘s’?ﬂﬁl’s’
FesFed

C Bare conductors | ST egded

D Two core cable | & R hael

Answers:

1-C|2-D|3-B|4-D|5-A|6-A|7-C|
8-D|9-B|10-B|11-A|12-D|13-D|
14-B|15-D|16-B|17-A|18-D|19-B |
20-D|21-B|22-B|23-A|24-C|25-A|
26-D|27-C|28-C|29-C|30-C|31-D|
32-A|33-D|34-C|35-C|36-B|37-C|
38-C|39-C|40-B|41-B|42-B|43-B |
44-C|45-B|46-C|47-B|48-D|49-B |
50-A|51-D|52-C|
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1 How many electrons are there in the third cell
of the copper atom? | TTsl & TRATY] o T heT &

[ERGERED LS

A 8

B 13

Cc 18

D 29

2 Which is the semiconductor material? |
3T gery RiT ATR?
A Eureka | ?II37=FI'

B Ebonite | Qal;uéa

C Manganin | 3=nfasT
D Germanium | SIEfaTH

3 What is the indication of neon polarity
indicator used for checking A.C. supply? | s1deT

&Il Hehcleh 3T AC 3Tl STl A Hehel T
BT &?

A Both electrodes will glow | Al SleFEIS STelcd
3

B Only one electrode will glow | %hadl Teh
EEEER LRI

C Both electrodes will be flickering | &=l

SelorcIsS UHb o

D One electrode will glow and another will be

flickering | Teh Folerals STelall 3R GERT THeaT

4  Calculate the electrical energy in unit
consumed by 500W lamp for 5 hours. | 500W &g

ﬁsd‘&mﬁwﬁagamﬁaﬁrwaﬁaﬁtﬁ
IGEIIGLY

A 0.5 unit
B 1.0unit
C 15unit
D 2.5unit

5 What is the value of hot resistance of a bulb
rated as 100W/250V? | 100W/250V & 3¢S dod &

I3 TTORIET T AT F3T glom?

A 31.250hm

B 62.50 ohm

C 312.50 ohm

D 625.00 ohm | 625.00 ohm

6 Which law states that in closed electric circuit,
the applied voltage is equal to the sum of the

voltage drops? | isT AT [ Fgarg, fh s
faegd aRay & ofermar I dleest, ateest ard &
N7 & S BT &7

A Ohm'’s law | 37TEd T AT

B Laws of resistance | IfaRIer & fager

C  Kirchhoff's first law | foh<aIt T 9gelT fger
D Kirchhoff’s second law | ﬁw_ﬁﬁfﬁaﬁrw
IGRE

7 Calculate the total power of the circuit of two
lamps rated as 200W/240V are connected in series

across 240V supply? | 200W/240V & &Y o7 240V
mﬁﬁ&vﬁﬁqggv%;gmammm|
A S50W|50W
B 100W | 100 W

C 200W |200W
D 400W | 400 W

8 What s the formula for the equivalent
resistance (Rt) of the three resistors Ry, R, & Rs are

connected in parallel circuit? | TS citel ITARTETR,,
R> & Ry HTec IRAY 3 53 8, cit ool TR ATt
IS |

Rr=Ri1+R2+Rs3

Rr=—+—+—

Rr= ——
Ry+R,+R3

o 6o w >

Rr=4—7—

R1+R2+R3
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9 What is the reading of ohmmeter across
opened ‘R2’ resistor? | Wﬂm@
§UT R2 YTORIE OR 7 1912

TR "

[— W& —

A Indicate zero reading | [T quﬂieh IR Hohd
B Indicate infinite resistance | 3feicl TSI U
dhd

C Total resistance value of the circuit | IRIT &7
Tl TTRTeT ATl

D Value of sum of the resistance of R1 and R3

only | R1 3R R3 9fcR4t & 29T 7 AT

10 What s the change of resistance value of the
conductor as its diameter is doubled? | fRdT Tl

& iR 7 a1 aRade giem, Afe 38 <ard Y
QWL T feam S

A Increases to two times | Wﬁaﬁm
B Decreases to four times | EI'IT?*;IT-ITHEFW@
SE

C Decrease to half of the value | 31TIT deh e &T
STE

D  No change in value of resistance | IfaRIeT &

IS IRTTA T g

11  What is the name of the resistor? | ITARTIeT T
FATATH &2

Metal film resistor | urgrﬁm?slﬁfm
Wire wound resistor | maﬁgam
Carbon — film resistor | FIeeT e gfavrer
Carbon composition resistor | FraT AT

o 0O w >

EIGLH

12 Calculate the resistance value of the resistor
by colour coding method. | Wagﬁﬁr%a\mu

GTARIET &l AT TATST

23x103 W £ 5%
26 x103 W £ 10%
32x104 W £ 10%
37x104 W £ 5%

OO w >

13  Why the ohmmeter is graduated with non-

linear scale?| 3NEHHTEI I 3RWT A H FIT
AT T ST ehaT &2

1&N
o OHMD a oHD

A Voltage is directly proportional to resistance |
aleest, FfeRer & HATare 8

B  Currentis inversely proportional to resistance |
T, SARYET & SgeshaATeTTe &

C Resistance is inversely proportional to the

square of current | IfaRIYT, URT & TeT
c& S %—

D Voltage is directly proportional to the square

of the current | @lecal, %rmasa?‘ré;mgm?ﬁ%
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14 Calculate the value of unknown resistance
‘RDC’ in the Wheatstone bridge network, If PAB =
500W, QBC = 300W, SAo = 15W, at balanced

condition. | deEele fsioT T HcJolel T AT H
37T 9T ‘RDC’ T AT AT HITSTY, ST PAB =
500Q, QBC = 300Q, SAo = 15Q &

OO w >

15  Which material is having negative
temperature co-efficient property? | ESRCBE:
FOTcH TIHTeT I[0TIeh T I[0T BTl &2

A Mica | Idh

B Eureka | ?IISW

C Copper | d@T&T

D Manganin | #eamfalet

16 What electrical quantities are related in

Ohm’s law? | m*mﬁmﬁﬂﬁ
iRt sl dr &

A Current, resistance and power | €T, EIGEL}
Tq erferd

B Current, voltage and resistivity | €T, drecal
3R gfareresar

C Current, voltage and resistance | &I, drecsl

AR gfady

D Voltage, resistance and current density |

aArecs, 9farer 3R &Ry eeTar

17 Calculate the value of resistance ‘R2’ in the
parallel circuit. | HHTedR IRUYT H R2 &l AT AT
CAIE R

=154 I
- 24Y =
A 2Q
B 4Q
C 6Q
D 8Q

18 What is the effect of the parallel circuit with
one branch opened? | W?ﬂ'@TZﬁl}?ﬁ'ﬁﬁW

AR IRIY H FAT TG gIoT?
A Current will remain same | TRT THTT daiT

e

B  Whole circuit will not function | tlt\TI'tlﬁ'qiT
T TET hal
C  No current will flow in that branch | 39 m@T

# URT LT Fgal
D Voltage drop increase in the opened branch |
Gell AT H dleds T 8¢ SR
19  What is the unit of resistivity? | IfaRIeTRdT
F FIT 5HTS 72
ohm / cm | 3NEH/THT
B ohm/cm2 | 3EH/THR2
C ohm - metre | 3EH-HIX
D ohm/ metre | 3NEH/HT
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20  Which type of resistor is used for Arc
guenching protection in circuit breakers? | gfere

SRl 3 31Teh AT G&TT o foIv fohdy Jeh &
GTARTer &7 39TeT fohaT ST 82

A Varistors | aRTE

B  Sensistors | 8T

C Thermistors | uffTeT

D Light dependent resistor (LDR) | eli3¢ f3Use

e

21  Calculate the value of resistance by colour
coding method. | @Ta@ﬁ’@’ﬂ:a\alql EIGRCED]

AT 18T

22x103 £10%
23x104 £ 10%
25x103 +5%
36x104 £ 5%

OO W >

22 Calculate the unknown resistance “RDC” in
the Wheatstone bridge circuit, if PAB=400 ohms,
QBC=200 ohms and SAD=12ohms at balanced

condition. | deEeleT fsrat hr TcleleT T Jraear A
37T ITARIY ‘RDC’ T AT AT It ST PAB =
4000, QBC = 200Q, SAo = 12Q &'

OO WP

120

23  What is the reading of the voltmeter V? |
dlecHIC V & ITadTh ad1sT]|

Al '®¢ et ot

A O0V]|OV
B 6V]|6V
C 9V]|9V
D 18V |18V

24  Which is the application of series circuit? |
Aol qRYY T FIT 39T 82

A Voltmeter connection | dlecHIe dteld

B Lighting circuits in home | ERT & YarTeiir
gRYY

C  Shunt resistor in ammeter | AT HAC
EIGL)

D  Multiplier resistor of a voltmeter | @ceHIE
T AT Ty

25 What is the effect on opened resistor in series
circuit? | WWQ’@@UWWW
AT 82

A No effect in opened resistor | @mﬁ
IS THTT T

B  Full circuit current will flow in opened resistor |
gol gfcRier & & qof aRuy grr sgah
C Total supply voltage will appear across the

opened resistor | gﬁqﬁfr&r%a’m’rm@
mﬁal«éa TXCELL

D No voltage will appear across the opened

resistor | @W%aﬁraﬂ?ﬁémw
fegam
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26  Calculate the resistance value in R3 resistor. |

R3 FfaRreres H YTaIeT T AT 98T
=
" Iy
o
-l oV -
A 40hm
B 60hm
C 80hm
D 120hm

27 What is the effect of the circuit, if ‘ab’ points

are shorted? | IR T AT THTT g19TT, TS AB i
AT T fear S|

— O
B O~ (= [

A Circuit resistance will be zero | IRIY FTARTY

32 & ST
B Same current will flow in all branches | T8
ATETHT H AT URT S5 ol

C  Supply voltage will exist in each branch | 9cds
ATET H Y] atecsT

D Total circuit current is equal to each branch
circuit current | iﬁT»I'Qﬁ'q%T%]III Tcdeh QMTMET YRT &

AT grafr

28 What is the name of the resistor if its
resistance value increase with increase in

temperature? | uﬁwﬁaﬁ%mum

SfAY AT I dT &, df AN &1 ATH FAT 82

A Varistors | 3RTX

B Senistors | A&

C Thermistors | affeex

D Light Dependent Resistor (LDR) | FI'IBE'%'E]?;E'

e

29 What s the formula for Quantity of electricity
(Q)? | faegc AT T T FATE?
Current x Time | &TRT x §HT

B Voltage x Current | @lecoT x &R
C Current x Resistance | €TRT x IR
D Voltage x Resistance | @lecaT x AR

30 What s the unit of conductance? | dTelehdl
Frsas FaTE?

Mho | Fgr

Ohm | NeEH

C Ohm-m | 3EH-HI

D Ohm/m | 3EA/HAIX

(v~]

31 Which one defines the change in resistance in
Ohm(Q) per degree centigrade (°C)? | 31T 9T
39l d&E1s (° C) # TR & TRaciT ol it &
IRATIT FIAT &2

A Temperature effect | ATIHTA JHATT

B  Laws of temperature | dT9AT o ATeT

C Temperature constant | dT9HT [ adTh

D Temperature co-efficient | ATqHTeT 90T

32  Which type of meter is used to test the
polarity of battery? | SedI @r%amaﬁﬁra;ﬁtr

T YR &7 HIeX FIA9T fohar SATar g2
Moving iron ammeter | ﬂﬂ'?»ﬁ?’&ﬁ:ﬁ?{'
Moving coil voltmeter | ﬂﬂ'iwsé\l dlecHIe

Moving iron voltmeter | Tl olig Ao

Dynamo meter type wattmeter | gl%ﬁﬁﬂﬁ?}
JehR Rl dICHIEY

O 60 w >
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33 Whatis the voltage drop in resistor ‘R2’ in the
series circuit? | Ao IR9Y 7 gfcReed R2 &

dlecst ITd HATel Id1ST

1000 000
o, BHaw
=
, v 4
o
- —J
R0 R0
A 5volt
B 10volt
C 15volt
D 20volt

34 Which is the application of series circuit? |
Aofy 9RO &7 1 39T 87

Fuse in circuit | Wﬁq@lﬁ

Voltmeter connection | @lecHel HATSTA
Electrical lamp in homes | Wﬁﬁ?{{ﬁﬁq
Shunt resistor in ammeter | 3T H el
gfarers

o 0O v >

35 Which method is used for measuring 1 Ohm
to 100K Ohm range resistance? | 1 31Tgd & 100k

3EH o AT & ieT A [T T 31T foram
ST 8?

A Substitution method | IfaEamdeT fafer

B Kelvin bridge method | shfedeT TeeT AT

C Wheat stone bridge method | Sgrexers fsrar
fafer

D Voltmeter and ammeter method | @lecHIcT
AR T fafer

36 What s the S.I unit of specific resistance?

fafarse gfaRrer fr s se FATE?
Ohm/cm | 3EH/T#HT

Ohm/metre2 | 3Ed/HeI2
Ohm-metre | 3EH-HIX

Micro ohm/cm2 | HTSsh! 3EH/AHT2

O 0O w >

37 What is the value of resistance of the resistor?

| faReres & UfaRier & 1 AT 82

ORAMEE ORANGE REO SLYER

330 £ 5% Ohm
3300 + 10% Ohm
33000 5 % Ohm
330000 + 10% Ohm

OO w >

38 Whatis the purpose of the shunt resistor ‘R2’
used in series type Ohm meter circuit? | 20T JhR

& 3ed e aRTy 7 e 9faer R2 HT T
3TAITE?

A To limit the current in the circuit | IRIT &
RT S WA HLT

B Toincrease the value of meter resistance |

HIeT IR o AT T T

C To adjust the zero position of the pointer |
Tehcleh T = FEUT S AT AT

D To prevent the excess current in the circuit |

gRaer & faRed arT i et

39  Which electrical quantity affects the heat

generated in a conductor? | ﬁﬂ?ﬁ'ﬁﬂg?ﬂﬂ'!li?l

ATeldh H FSAT 3c9ee] ! THITaT FAT &2

A Voltage | recal

B Square of the current | R T FaT

C Square of the resistance | AfaRTer &7 a7

D Current passed through it | WWF%HURT
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40 Whatis the change in value of resistance of
the conductor, if its cross section area is doubled? |

ATelah o TR & AT H FIT IR 8IAT &, 30K
ST JHTEY I & TDel ST 8T SITcll &7
No change | IS IRadT A8l

A
B Decreases 2 times | & [T e 81 SIIcll &
C
D

Increases 2 times | a’ralmmag’rm%
Decreases 4 times | ﬂﬂﬂﬂTW%’fE’lﬁT%’

41 Calculate the voltage drop across the resistor

‘R4’ in the circuit? | IRIT H IfeRITH R4 T}

dlec ol UTd ahl IT0TAT Tt |
601 Ry=~4001 Re601
—1__ I
g =
Ry=00
L¢L L-0
20V -
A 48V
B 72V
C 80V
D 100V

42 What s the resistance of Light Dependent
Resistor (LDR), if the intensity of light is increased? |

wrse f3dge TREeX o1 afaRier &1 gam, Ife genrer
EIRIERIC R IRE

A Increases | a%m

B  Decreases | €13l

C Remains same | THTT {83

D Becomes infinity | 3ToTd & ST

43  Which formula is used to calculate the power

of a DC circuit? | 3T IR9Y H Qrferd hr Io7=T
L HTFATHAB?

Voltage x time | @lecol x T

Current x voltage | &RT x @lecol

Current x resistance | &IRT x gfaer
Voltage x resistance | drecal x iy

O 0O w >

44  Calculate the hot resistance of 200W / 250V
rated lamp. | 200W / 250V 33 o7 & 3137 gfader

Fr TUTAT HY|
A 3125Q
B 6250
C 31250
D 6250

45 What is the value of resistance in an open

circuit? | Teh Gel Afehe H TTcRIer 1 Al T 82

Zero | j[=T
B Low |hHA
C High | 318

D Infinity | 31

46  Which resistor the lowest current flows in a
parallel circuit having the values of 50 QQ, 220 (2,

450 Q and 560 Q connected with supply? | HHTedX
gRaer ﬁtg?gtr 50Q, 2200, 450Q TAT 560Q
iRt 7 & fohd IIaY & 68 HH YRT g1

grem?

A 500
B 2200
C 4500
D 560Q

47 What is the specific resistance value of copper
conductor? | dTH ATelah T fAfRrse gfaRTer At

FATE?

A 1.720hm/cm3

B 1.72 Micro ohm

C 1.72 Micro ohm/cm3
D 1.72 Micro ohm/m

48 Which is inversely proportional to the
resistance of a conductor? | ATeleh & T

SGeshATeTITCH AT Bl 62

A Length | Wlé'

B Resistivity | IfaRTerspdr

C Temperature | dM9HTT

D Area of cross section | W?IWEHI'EEIW
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Answers:

1-C|2-D|3-A|4-D|5-D|6-D|7-B]|
8-D|9-B|10-B|11-B|12-B|13-B|
14-B|15-A|16-C|17-C|18-C|19-C |

20-A|21-C|22-B|23-D|24-D|25-C|
26-D|27-A|28-B|29-A|30-A|31-D|
32-B|33-B|34-A|35-C|36-C|37-B|
38-C|39-B|40-B|41-D|42-B|43-B |
44-C|45-D|46-D|47-C|48-D |
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1 Calculate the total capacitance value in the
circuit. | TRY T Frel FEUTRAT Y I0TAT RIS

apF 100F anpF
Il Il 11

A 0.16 uF
B 6WF|
C 30pF
D 70uF

2 What is the unit of capacitance? | FYTRAT T

SIS FATE?

A Mho | Fgr

B Henry | goTdI

C Farad | TS

D Coulomb | Felld

3 What is the capacitance value of a capacitor
that requires 0.5 coulomb to charge to 35 volt? |

e TR T &TRATr ATeT &7 8191, Ife 35 alee &
TOIT 0.5 el 31T T ITaRIHAT §1?

A 0.014F
B 0.025F
C 0.14F
D O0.25F

4 How the value of capacitance can be
decreased? | GUTRAT & AT T HY HH fHar 1
Hehell §?

A Increasing the plate area | Telc 81Tl I
delehl

B Increasing the resistance of the plates | ra k-

gfaer & et

C Increasing the distance between the plates |
Tolel & AT g TaTeh
D Using high dielectric constant material | 3Td

RIfdeg e @acish gere &1 3uT Hteh

5  Which is the diamagnetic substance?

RTFIhI qeTs hled ATE?
A Air | arg

B Steel | STUTd

C Water | STl

D Platinum | ToifeateT

6  Which factor affects the polarity of the
electromagnet? | @leT AT R fdeTd goaeh Hr

AT Y FIHTTIT AT B2

5
A Length of the coil | ioSo'i\l Fr oid—cllé

B Direction of current | &TRT &1 fgarm

C  Strength of current | &RT T erfFd

D Strength of the magnetic field | W&ﬂ'
T erferd

7 What is the unit of Magneto Motive Force
(MMF)? | IFeehI aTgeh ol chl T ShTS o7
Ampere / M2 | TFIIT/#HT2

Ampere - M | TFIII-HY

C Ampere - turns | TFRR-C

D Ampere /turns | TFIIR/ee

®

8 Whatis the total inductance if 3 inductors (L1,
L2 and L3) are connected in series? | AT 3 Yehcd
(L1, L2 ﬁTLa)mﬁqggc%aTngw
?

LT=L1xL2xL3
LT=L1+L12+1L3

1 1 1
LT—L—1+Z+E

O 0 ®> W

IT=——
Ly+Ly+L3

9 Whatis the unit of permeance? | RIAAT Fr
SHIS FATE?
Ampere - turns | TFRR-C Y

A
B  Weber/Ampere turns | &q{/w-qq{-ce-é
C
D

Ampere turns/Weber | TFURR-CeH/AsR
Weber/Square metre | da¥/He2

10 Which rule is applied to find the direction of
magnetic fields in a solenoid coil? | IRATTeIehT
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Sl H T &7 T e @istet  forw snler @

[CRECICACRIkICIEE

A Corkscrew rule | ﬁ@ﬁm

B Right hand palm rule | a’%ﬁﬁﬂﬁgﬂﬁﬂ

IGRE

C  Flemings left hand rule | AR T T STAT &1

1 fTH

D Flemings right hand rule | FATRIT &7 STAT 8T
CONC DL

11 Calculate the total value of capacitance of

series capacitor circuit. | ’Q‘Uﬁmﬁsﬁ
TYTRAT T IT0TT It

Ji|1--2e s
! 1
A 4ufd
B 10ufd
C  15ufd
D  40ufd

12  What precaution to be taken before
connecting the different voltage rating capacitors in

series? | Wﬁﬁ@ﬁmwmaﬁ
SSeT A Ugel T ATTYTAT SRl Siell ATfgu?

A  All the capacitors must be same manufacturer

| T3 HFATHET e &1 AT & glel Tifew

B Each capacitors voltage drop must be less than

its voltage rating | U hufded dlec ﬁqsﬂﬁ
el I A A glaT a1fgu

C Total capacitors value must be less than the
lowest value of capacitor | @WWW

TR & [AFTaH AT & S QAT I1feT

D Break down voltage of each capacitor must be

same | YA GUTRT &7 ShsI3+ dlec ol JHTT
g

13  Which material is the paramagnetic

substance? | ﬁﬂmmﬂﬂwmﬁ?
Cleat wiring | Felle arIRaT

Copper | dT&T

C Bismuth | ST

D Graphite | J)'WIB‘C’

14 Whatis the part marked as X in B.H curve? |
B-H dsh H X GaRT 3ifehc] 197 T ATH Sc1ST
]

(o)

A Coercivity | FIofafaEr

B  Saturation point | Wﬁg

C Magnetizing force | ﬂ_}‘@lﬁ'ﬂ'aﬁ

D Residual magnetism | m@ﬁw

15 What s the similar term in magnetic circuit
for “conductance” in electrical circuit? | ﬁaga

aRYY & "TeIehar & foIT o aféhe & ga=
UG FATE?

A Reluctivity | Rerercifadr

B Permeance | RAIT

C Reluctance | Releé®m

D Permeability | IRIAATSET

16  What is the unit of Reluctance? | ReTerca hr
SIS FAT L

A Weber/ metre2 | daT/HIeT2
B Weber/ metre | da/HeX
C
D

Ampere turns / Weber | u+qq~{-cr{f|/<:\|q~{

Ampere turns / metre2 | TFIIY-co /32
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17  Which is the correct expression of capacitance
C if the electric charge is Q and the voltage is V? |

g fege 3mder Q g 3R aledsT v g, o deriar

1 T AT FATE?
A C=QNV

B C=v/Q

C c=VvQ

D C=,VQ

18 How can you increase the pulling strength of
an electromagnet? | mw%agaw@r
Graet I ATehd 8 T6T Tohdl o7

A Increase the field intensity | &3 T digdT 9GIT
B Reduce the current in the coil | SEB?I'J#EF{'C
FA B

C Reduce the number of turns in the coil | i%?«'ﬁ
# gATE! T FEAT HA Y

D Increase the B-H curve of the material | gerdl
% d1-UT sk I TG0

19  Which defines the flux density is always
lagging behind the magnetising force? | FeldFd
FeTed EARIT Feehld ool & e T§ il 8, forarent
afkenfia Farg?

A Hysteresis | gTef @@

B  Magnetic intensity | W?—hﬂ

C Magnetic induction | EI;J-_GI@'JQTUT

D  Residual magnetism | 3@ IFShI

20 What is the effect on surrounding metal
placed in a magnetic field? | Wﬂ?ﬁ?‘@’fﬂg
ITHITH BT T IR FIT T TS &2

Hysteresis | feEeX@d

Skin effect | cd<T 9HTd

Eddy current | $7aX &TRT

Dielectric stress | TRIfdegd dalTd

O 0O w >

21  In which device the air capacitors are used? |

TG HITRA T 3TN Fehd 3TehI0T & T ST
&

A TVtuner | aT:ﬂ'E{q\?-!T

B Oscillator | Gleleh
C Loudspeaker | €afa-laEdRs I
D Radio receiver | 33 RIS

22  What will happen, if the polarized electrolytic
capacitor is reversely connected? | Qﬁ'w
gelFglegiesd HUTRA faulia 78 313 e, &
FT IATT?

A No effect on the capacitor | Wﬁ?qaﬁé’
GHTT T

B Explode due to excessive heat | 3cT e ITHT
& $HROT [aEhIc

C Currentis reduced in the circuit | IRTT H YRT
EEHEICIH

D Value of capacitance will be increased |

FYTRAT T HTeT SGIAT SATTI

23 Which is the diamagnetic substance? |

TRIFehg qer i #g?
A  Wood | CEEl

B Nickel | ¥ohel

C Platinum | Tlfeasd

D Manganese | Harersr

24  What is the S.I unit of Flux density? | Feldr g
Halcd I S| SHIS FATE?

Tesla | SEaIT
B Weber | as¥
C Weber/metre | JeR/#HeT
D Ampere-turns | TFRR-C

€@ \| M| Question Bank

Page 28 of 36



ELECTRICIAN - Semester 1 Module 5

Reviewed and updated on: 01%* November 2019 Version 1.1

25 What indicates the shape of a BH curve
(Hysteresis loop) of material? | UeT2 &7 B-H I
(e Refra o) & 3R F=am gaifar &2

A Reluctance of the material | yerd &1 Resea
B Field intensity of the substance | J&rey T &3
GIEGH

C Magnetic properties of the material | e fr
ECECoRRERLRIIY

D Pulling power of the magnetic material |

YRy [T T ATFT Wi

26  Which electrical quantity is directly
proportional to the eddy current? | ﬁﬂ%ﬁﬁag?r

AT TN X URT & AT gl &2
A Voltage | Aot

B Current | &IRT

C Frequency | 3-11@:%

D Resistance | 9faRrer

27 Which is the cause for changing the
permeability? | RFAATNE & gRafda g =r
T HRT 2

A Length | Wlé'

B  Flux density | FeldrH Helcd

C Field intensity | & drgdT

D Magneto motive force | WWW

28  Which type of capacitor is used for space

electronics? | fohd TR o1 TR 3ialkeT
SoFCIard o [oIT 3UANIT fhaAT ST 872

A Plastic film type | CollTEceh Tthed YK

B Ceramic disc type | fRTA® 3T 9hR

C  Electrolytic-Aluminum type | ERT}G@TFITE',%EI?-
TogAfaaH g

D Electrolytic-Tantalum type | 3@?@7@'@%—
A IhR

29 What s the effect of the electrolytic capacitor,

if open circuit fault occurs? | SelaFelalsce TUTRT
T THTT FAT BT &, 39N Yol TR G gl 82
A It will not function | g T Adl HLAT

B It will burst at once | %Waﬂﬁﬁm
C It will become leaky | Ig olleh &I ST

D It will function normally | I§ ETHT &9 &
T LI

30 What will be the change in value of
capacitance if the distance of the plates are

decreased in the capacitor? | T TTRT & Tolel
1 gl A BT STl &, A T & AT 7 &/
gRadeT glam?

A Becomes zero | Q]FJ?I’GI'I'Q?IT

B Remains same | THTT {831

C Decreases | & gl

D Increases | g

31  Which property of magnet is illustrated? |

T Y it A FAATAT g2lTS WS 2
<>00<§]
00
BOO

Directive property | f&eirr farear
Induction property | 90T faQedr
Saturation property | H'F‘[‘H%QTG!FIT

Poles existing property | %Hﬁa@ﬁ?m

O 0o v >

32 Which is a paramagnetic substance? |
I IFRIT TeTd it AT E?

A Air | arg

B Steel | SEUTd

C Glass | /T

D Water | 3ol
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33  Which method of magnetization is used to
make commercial purpose permanent magnets? |

gFenIehoT Y fondt fafer a1 3uter aTforisaes
362 g TURN IFaieh a1 & ToIT foham ST g2
Induction method | 9ROt fafer

Single touch method | Tehet TTLT fafer
Double touch method | argdr ey fIafer
Divided touch method | faemTfora et flafer

O 0O v >

34 Whatis the effect of inductance if the
distance between the turns increases? | If¢ 'cEI,?:l'IHT

o St T & Fecl &, Al 9R0T ohT THTd T 82
A Increases | g

B  Decreases | €13l

C Becomes zero | Q]FJETGI'I'QTIT

D Remains same | EHTA Ig3T

35 Whatis the function of dielectric insulator in
capacitor? | Wﬁwﬁﬂawwm
FATE?

A Increases the strength of capacitance |

gaRar fr aeed Serar g

B Prevents any current flow between plates |

Core & iy Rl 3 €T ST B AT &

C Protects from short circuit between the plates
RGEEEIECELECRCEICIE
D Helps to hold the charge in capacitor for long

period | TR & 373 T s GHI doh W@ H
FCE AT

36  Which factor is determining the value of

capacitance in capacitor? | TUTRT & GTRAT & AT
fora R & garT AuiRa @Y

A Area of the plates | Tolel 3T 81T%hel

B Shape of the plates | Tolel &l 3R

C Material of the plates | Torel & gerdt

D Thickness of the plates | Q’c‘ff?ﬁﬁl?flé'

37 Which type of capacitors are used in RF
coupling circuit? | 3TRTH Ja=T Afche H fohdl TehR

& TR &1 39T T SATaT 82
Tantalum | &
B Monolithic | AlaITTds

C Electrolytic | Selacifaifea

D Metalized poly propylene | UITfI;Ff

Answers:

1-B|2-C|3-A|4-C|5-C|6-B|7-C]|
8-B|9-B|10-B|11-D|12-B|13-B |

14-A|15-B|16-C|17-A | 18-A | 19-A |
20-C|21-D|22-B|23-A|24-A|25-C|
26-C|27-B|28-D|29-A|30-D|31-A]|

32-A|33-A|34-A|35-B|36-A|37-B|
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1 What is the unit of susceptance? | GEEH T

RIS FATE?

A  Mho | Fgr

B Ohm | 3eH
C Henry | g1
D Farad | BUS

2 Whatis the resistance of the inductive coil
takes 5A current across 240V, 50Hz supply at 0.8

power factor? | WWWWW@WT,
i 240V 9T 5A YR o, 50 &¢aT 3, 0.8 2rfer

T[0T g2
A 48W
B 42.5W
C 384w
D 26.6W

3  How the resonance frequency (fr) can be
increased in A.C series circuit? | A.C A0 RIY &

37efetTe; T (fr) T H TSIAT SIT Fehell 872

A Increasing the inductance value | 9&hcd AT
A

B Reducing the capacitance value | ITRdAT AT
H AT

C Increasing the capacitance value | IETRAT
AT A g

D Increasing the value of resistance | I

AT A g

5 What is the main cause for below 0.5 lagging
power factor in 3 phase system? | 3 Fell YUTTell H

RISl I[OTIh 0.5 TRTIMMHT A A1 gl HET HROT
FATE?

A Due to fluctuation of voltage | el o 3dRR-
IETd oh hIROT

B True power due to resistive load | Ifaers
8T o ST Il AT

C Reactive power due to more inductive load |

3% & IR & HRoT gfafraniie afeFd

D Reactive power due to more capacitive load |

3718 AT 7R & SRoT yfaferareie eafea

6 What s the current in neutral conductorin 3
phase unbalanced load in star connected system? |

TR HANSIT FAEcH & 3 Fhell Il AR A
3ETHI ATeleh H URTFAT§?
A No current will flow | IS ¢IRT 8T Sg3iT

B The algebraic sum of current in 3 phases | 3
SHATHT H EITRT T AT AT
C The algebraic sum of current in 2 phases only |

el 2 HAT3T F URT HT Aol JreT

D Lesser than the lowest current in any one of

the phases | elT3il 7 & ThET & TIH e URT ST
JoleT H e

7 Calculate the apparent power in KVA of 3
phase 415V, 50 Hz, star system, if the line current

(IL) is 16A at 0.8 power factor. | 3 =hell, 415V, 50 Hz,
TeR Qe & Hd0 & 3rHRdT erferd &y Iror=r
IS, I STS=T &R (IL) 16A & 0.8 AT a[uTieh
'qT_

A 152 KVA
B 11.5KVA
C 9.2KVA
D 5.3KVA

8 What will be the readings of two watt meters
(W1& W2) in 3 phase power measurement, if the

power factor is zero? | 3 &ell TSoTell ATY H &F dTc
HreX (W1 & w2) Fr e = greft, afe arax herex

Y &2

A W1 & W2 both are positive reading | W1 3R
W2 gleil YeATcHeh UTSdieh

B W1 is Positive and W2 is negative reading | W1
TATCHS ¢ 3T W2 FOTcHS TISdTH &

C Wi1isequal to W2 but with opposite signs |
W1, W2 & SRTeR g, oifehet faadie Tehal o 12T

D Zero W1 is Positive reading, and W2 is negative
reading | W1 Qe YilcH § 3R W2 HUTTcHSH
o1 &
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9 What is the maximum value of voltage for 240
volt RMS? | 240 dlec IIRUHTH & felT dlecot &l

HThH Hod FT 57
A 240V

B 415V

C 3395V

D 376.8V

11  Whatis the formula for Reactive Power (Pr) in

an AC circuit? | AC Gfehe & Rufdea 9rax (PR) T

q FATE?

A Pr=VIi

B Pr=v2VI

C Pr=VlcosH
D Pr=VlisinB

12 Calculate the impedance of the circuit R = 50,
XL=36Q and XC=24 Q. | R=50, XL=36Q and XC =

24 Q &, AT IRTY F FfAeETeT 1 07T I |
- % X
] /'V'Y‘V\—<
.
B
-
2
A 69Q
B 65Q
C 13Q
D 12Q

13  What s the phase displacement in a single
phase AC circuit? | Tohel B AC IRIY H HellcdX

ERGIRGIEE
A 90°

B 120°

c 180°

D 270°

14 What s the relation between the line voltage
(VL) and phase voltage (Vp) in star connected

system? | TR AT [ATeH & ATSeT alecsi(VL)

JUT Hof Arecol(VP) H HFG-Y SdTSU|
A V, =3V,

V, =3Vp

v, =%
D V,=Vp/3

15 Calculate the line current of the 3 phase 415V
50 HZ supply for the balanced load of 3000 watt at

0.8 power factor is connected in star. | 3000 dIC
T #1R, 0.8 et a[UTieh TR TR & HAToId 3
Fell 415V 50 HZ 3Tl §; SlTSeT &R & 07T Y |
A 85A

B 52A
C 45A
D 34A

16 Whatis the power factor in a 3 phase power
measurement of two wattmeters showing equal

readings? | cilel dholl 2T ATIT H Gl aTc Hied H

AT fST et o rferet Iqotieh 2 &2
A 0O

B 1

c 05

D 08

17 Calculate the power factor of coil having
resistance of 24Q), draws the current of 5A, at 240V/

50HZ AC supply. | 24Q Qﬁmﬂaﬁr?,ﬁr% fea
W@rw@ﬁfﬁ, ST 5AZRT 9IRT, 240V/ 50HZ

AC 3Tl TR I -
A 08
B 06
C 05
D 03

18 What s the formula to calculate the
impedance (Z) of the R.L.C series circuit, if the
inductive reactance (X.) is less than capacitive

reactance (Xc)? | 3TRTAT ORI & IfAeTer (z) v
ATUTEAT sh¥at T T T &, AT IEhTT e (X,)
e gfderd (x) FFAE?

A Z-R%4 X 21X

B

_ [n2 IVRY
C zz,;RZJr(xLZ—xC)2
D Z:VR2+(XC_XL)2
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19 Calculate the power factor of R.L.C circuit
having resistance (R) = 15W, resultant reactance (X)
= 20W connected across 240V /50Hz AC supply? |

gfaRIeT (R) = 150, IROTAT gfderd (X) = 200 &
240V / 50Hz AC 3T9fct & TS R.L.C IRYY & erfeFel
3[UTIeh 2T ATUTGAT h?

)

A 05]05
B 0.6]06
C 07]07
D 08]0.8

20 Calculate the value admittance (Y) of the RLC
parallel circuit connected across 240volts/50Hz AC
supply and 8 Amp. Current is passed through it ? |

240volts / 50Hz AC 3Tl 31X 8 Amp &IRT JaTTe dTel
T3 RLC FATAICR Afhe & AT TS (v) &
IOTAT Y | S ATETH T IC 91 fohaT ST 872

A 3.33Mho
B 0.33 Mho
C 0.033 Mho
D 0.003 Mho

21  Whatis the formula to calculate the line
current (l) of this single phase R - C parallel circuit?

| Thol eIl RC AT TRIY H ATSeT TRT(1,) Fr
ITUTAT el T G 8-

R k Te

(~) R ——c

A ||_: |R' |c

B Ii=1Ir+Ic

C ||_: |R2' |c2

D |L= \/(|R2- |c2)

22  How the low power factor (P.F) can be

improved in AC circuits? | TEI RIY H e AfFd
(0TI (P.F) T h&l dgc SI=ATAT ST Hehll &2

A By connecting resistors in series | gfardt &r
Ao 7 FAF

B By connecting capacitors in series | TemiaET i
Aol A/ S5

C By connecting inductors in series | ORehcal ol

Foft 7 SgHT
D By connecting capacitors in parallel | TRl

FT FATTAR H SIS

24 What is the relation between the line current
(I.) and phase current (lp) in delta connected

system? | mﬂﬁﬁmﬁmm(m IR

ol hiC (IP) o ST AT I &2
A L=

B 1.=31p

C 1k=+31

D L=l/V3|lL=1/V3

25 What is the purpose of phase sequence
meter? | Shell 3TeJsha HICT T 3CC T AT &7

A To control the speed of 3 phase motor | To
control the speed of 3 phase motor

B To protect motor against short circuit fault | To
protect motor against short circuit fault

C Toindicate the incorrect phase sequence of 3
phase | To indicate the incorrect phase sequence of
3 phase

D To ensure the correct phase sequence of 3
phase system | To ensure the correct phase
sequence of 3 phase system

26 Calculate the apparent power of a star
connected 3 phase load, if it is connected across 3
phase 415volt/50Hz supply at 0.8 p.f and the phase

current is 10 Amps. | WFCIT@EJ,?S Foll A T
STHTEY QfFd T ITUTAT Y, 3R Tg 0.8 ATFd
A[UTieh IX 3 &l 415volt / 50Hz TYfet & o7 & 3R

BT ART10 A §
A 12.45KVA
B 57.50 KVA
C 3.320KVA
D 7.188KVA
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27 What is the P.F if one of the wattmeters
reading is zero and the other reads total power in 2
wattmeter method of 3 phase power

measurement? | 3 &oll ATFd ATT H 2 dreHET
fafer & & & I veh e TreaTh 81 3R @ FHel
QU UI&ATeh g, Al ATl I[0TTeh T &2

A 05

B Zero

C Unity

D Below0.5

28 What s the formula for form factor(Kf)? |
I there(Kf) T G T 82

A | Kf=311Hd A/3RTATH AT

B | Kf=3IRUHATH HAA/3iad AT

C | Kf=31T8hda AR/ 3 ad AT

D | Kf=3TRUATH A/ hcda AT

29  Which electrical term is defined as the total

opposition to current in AC parallel circuit? | THY
AT TR 3 RT3 5eF FoRYer 35 e ¥ Forey
Rrege g, aRE R ST &2

A Resistance | IfaUer

B Impedance | Sfcamerm

C Admittance | TsfAcH

D Susceptance | G&CH

30 Which AC circuit contains the phase relation
between voltage (V) and current (1)? | & AC
gAY #H et (V) 3R FHE (1) & 61T T FHell

AT EIAT8?
¥ 1

AN
SN

A Pure resistive circuit | e;ajacrﬁmfrcrﬁw

B Resistance and inductance circuit | gfaRrer va
Wehcd IRTY

C Resistance and capacitance circuit | gfeRer tg
TR aRaY

D Resistance, inductance and capacitance circuit

| FTARTE, Sehcd T HTRAT IRIY

31 Ina 3 phase system, if the active power is 4
kw and the apparent power is 5 KVA, calculate the

reactive power? | 3 &oll UTTell H, Ife @fehT AFT
4 kw g 3R 3THTEY afFa 5 KVA &, af afafsharfier

QTR &Y ITOTAT 2
A 1KVAR
B 2 KVAR
C 3KVAR
D 4KVAR

32 In which condition resonance will occur in R-L-
C series circuit? | 3TR-TS-AT A0l a9 7 fhg
Feafa & 31eare grom?

A Inductive reactance (XL) is zero | 9T
Sicene (XL) T &

B Inductive reactance (XL) is equal to capacitive

reactance (XC) | 9hII wfaerd (XL) emRdr
gfaerd (XC) F IR g

C Inductive reactance (XL) is greater than

capacitive reactance (XC) | 9T 9feTd (XL)
TR gfcard (xC) & AfaF g

D Inductive reactance (XL) is less than capacitive

reactance (XC) | 9T gfaErd (XL) e
gfaera (xC) A FFE

33 How will you obtain positive reading in the
wattmeter reads negative reading during 3- phase

two wattmeter method? | 3 el &I aTcHTeY fafer
H qICHCT % HUMcHSD IIeTTeh gol U 31T
eTTcHS TTaTeh hdl UTCc hal?

A By interchanging the connections of input

terminals | 3T FART o TSI 3T9H H deoled T
B By disconnecting the connection of current coil
in meter | W;E?ﬁﬁ%ﬁﬁmm
oI

C By reversing the connection of pressure coil in
meter | FIEY H ST Fell & TSI scelel T

D By reversing the pressure coil and current coil

connection in meter | HeX ﬁaawi%a?rﬁﬂm

el & TSIl Feelal T

€@ \| M| Question Bank

Page 34 of 36



ELECTRICIAN - Semester 1 Module 6

Reviewed and updated on: 015 November 2019 Version 1.1

34 Whatis the form factor (Kf) for sinusoidal AC?

| SITIehTT THT & ToIT BieT thereX (Kf) FAT 872

A 1
B 1.11
c 222
D 4.44

35 What s the reciprocal of inductance in AC

parallel circuit? | THY FHATATGR 9RIY F IRehcd T
IRETRE FATE?

A  Reactance | 9faard

B  Admittance | USfACH

C Conductance | dTelehdl

D Susceptance | EECH

36 What relationship is illustrated in between the
current and voltage? | &IRT UG alec ol & HET sl

AT FILT ST IAT 8?2

+

| X7

A Current and voltage are “in phase” | YRTUd
e GHT HelT H g

B Current and voltage are in out of phase | &IRT
Ud dlecsl sholl H «igl o

C Current lags behind the voltage | &TRT, @lecol
FUS @A

D Current leads ahead of the voltage | YT,
areea éxngzil %’

37 Calculate the total power by two wattmeter
(W1 & W2) method, if one of the wattmeter (W2)

reading is taken after reversing. | &r aTeHTeT (W1 &
W2) fafer garT et e 1 aorer Y, I v

greseT (W2) AT 3oea & a1g o ST 1
A Wix?2

B W1only | hdel W1

C WI1-w2

D W1+W2

38 In which 3 phase system, the artificial neutral
is required to measure the phase voltage? | HieT &Y
3 el JUTTCl #, thaf dleesT Tl AT & foIw S
3CTHTST dR I ITaRIHAT gl 82

A 3 wire star connected system | 3 dX ¥
Fafed e

B 4 wire star connected system | 4 dX ¥
Fafed e

C 3 wire delta connected system | 3 IR Seer
Fafed e

D 4 wire delta connected system | 4 dR Seel

g {EeH

39 What s the line voltage in 3 phase system if
the phase voltage is 240V? | 3 thof ATeH H Ife

ol dlecsT 240V 8T, dl olTSeT dlecol F4T gIa?
380 Volt | 380 Volt
400 Volt | 400 Volt
415 Volt | 415 Volt
440 Volt | 440 Volt

OO w >

40 Which formula is used to calculate Form
factor (Kq)? | Wi1aT $heFe(Ky) T I FATE?
A K= Effective value | Ke =S8qTaY ATT/3 8 a AT

Average value

K = veragevalue |\ Qe AleT/JTe Aol

B Ef fective value

C K= Zlfectvevalue |\ comrd et/ RRAH

Maximum value

AT
D Ky=-—Xeregevalue | g Hlel/3HRHaH

Maximum value

HleT

41 Which formula is used to calculate the
impedance (z) of a RLC series circuit? | RLC %lc'@?vlT

afdhe & GTIaT () it 10T ¥at & forw fre 7

T 3YIIT AT ST 872

A Z=R*+ (x,~x.)?
B Z=+R?+ (x,~xc)
C Z=yR+ (x~x%x)
D

Z =R?+ (x,~x.)?
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42 What s the power factor if one of the

wattmeter gives negative reading in two wattmeter

method of 3 phase power measurement? | 3 ol

rfFd AT Y &Y afedieT o 7 afe v aresiiex

FUTIcHS TS ¢l &, ol UTax theaFeX FAT§?
A O
0.5

B
C Unity | 3&TS
D

Less than 0.5 | 0.5 & &&

43  What is the phase displacement between
phases in a 3-phase circuit? | 3 ol vdT IO &

FolleR fhdaT glcT 8?2
A 90°|90°

B 120°]120°

C 180° | 180°

D 360° | 270°

44  Which condition is called as resonance RLC

circuit? | fore T &1 3167eTe RLC e e

ST g?

A XL>XC
B XC>XL
C XL=XC
D R < XL

45 Which quantity is rotating at a constant

angular velocity? | W@mmﬁﬁmﬁ
qRATOT & EoT gIdT &7

A Scalar quantity | ThelX IREATOT

B Vector quantity | 3 IR&ATIT

C Phasor quantity | ®aY 9R&ETOT

D Algebraic quantity | 3TTelTolTsieh IRHATOT

Answers:

1-A|2-B|3-B|5-C|6-D|7-B|
8-C|9-C|11-D|12-C|13-A|14-A|
15-B|16-B|17-C|18-D|19-B | 20-C |
21-D|22-D|24-C|25-D|26-D|27-A|
28-A|29-C|30-B|31-C|32-B|33-C|
34-B|35-D|36-A|37-C|38-C|39-C|
40-A|41-D|42-D|43-B|44-C|45-C |
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